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OANZXAURES 22X 3,000,000 3,000
= 1,500
o 1,500
A4 239 & HE 1,542,000 0 1,542,000
s 1,000,000
< 42,000
i 500,000
401 AIEHIZ SO 1,542,000 0 1,542,000
s 1,000,000
S 42,000
= 500,000
01 AlI&HI 1,517,000 0 1,517,000
OJIE2 = At A I 30,000,000 30,000
s 22,000
= 8,000
OMAE 2 B2 55,000
— & Al E A 55,000,000 55,000
[ 39,000
= 16,000
OEX bl 550,000,000 550,000
[ 45,000
== 5,000
s 500,000
OAlI&H| 882,000,000 882,000
s 874,000
== 8,000
02 Zcldl 15,000 0 15,000
OZeldl 15,000,000 15,000
s 13,000
= 2,000
03 A& =0 10,000 10,000
OAIZ2HHI 10,000,000 10,000




SN DSEAD
HH: HAERS U |4
chel: HAW ASHZ2 HD (5l &2
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
2 7,000
= 3,000
HZS YA (RSHAD) 60,388 0 60,388
EEETIenE ) 4,200 0 4,200
clEte (NS 4,200 0 4,200
203 ARFXY| 4,200 0 4,200
VRV 4,200 0 4,200
ORNSYALEH (RSB AD)
350,000 * 122 4,200
=2 ZH (RS D) 56, 188 0 56, 188
2B (RS 56, 188 0 56, 188
201 LPr2 Yyl 29,220 0 29,220
01 AFR2elt] 29,220 0 29,220
o=l 22,920
—=AEX 20,000 * 302 A * 53] 3,000
—styeA 30,000 * 100E 3,000
— N2 EEY| 750,000 * 23l 1,500
—=A £ 300,000 * 63| 1,800
—=AD C 450,000 * 23] 900
—ARQI2R gy 250,000 * 42 1,000
—BAEY 150,000 * 43| 600
—mACy 240,000 * 43| 90
—HmRE £ 250,000 * 8CH * 23] 4,000
—melE C 300,000 * 6} 1,800
— AR HIE 7Y 2,000,000 2,000
~RSPH THTY 30,000 * 202 600
—zotmRE 2ELE 880,000 * 23| 1,760
ozl 6,300
—ARIQIZ 2R S|
5,000 * 7% * 152 + 122 6,300
202 OfHl 23,328 0 23,308
01 =Loit] 23,328 0 23,328
012D +801H|
120,000 * 18% * 128 * 90/100 23,328

_17_




A U=
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chel: Jl2Zbl(nsgdn (el =
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2

405 XHeHE S| 3,640 0 3,640
01 XA ESESH=HI 3,640 0 3,640

OMAH (2= E) 250,000 * 2CH 500

O Xt 180,000 * 2CH 360

OS2 AMAIEDI 880,000 * 1CH 880

OZ NS A=Eil2] 400,000 = 1CH 400

dED 500,000  1CH 500

OARa 2 (IAE2ERE) 1,000,000 1,000
Megs(nsgdn) 500,000 100,000 400,000
WRAAXES(LNSEAL) 500,000 100,000 400,000
WRAHAAXS(NsSEE L) 500,000 100,000 400,000
702 JISdEES 500,000 100,000 400,000
01 JISH&EZ 500,000 100,000 400,000

OJtdz &stila 500,000,000 500,000

_18_




